(/) Astrolabe

Box Components
Clavicle

Box Components Kit
09.50.03.00150

Component Trays

09.50.06.00150




[Blank]



Clavicle

Box



Clavicle

Cortical

Locking
227

2PP@PO®@

(]

/\/\(\."’/ P s

=%
S)
® @
@®
® @

X

ePoP@0@@®

®

=

N
®N®
®®

CRCRCECR K]

)
9
®N®

3 R

®

%2()9@@

@
@

Pe@®®

3
¥ ® e
®
®eeeee

N
N
®
®
®

202®®

®

N
5
®

ee@ee®

®

®N®
®Ne
®
®|¢

20@®

e02@@

@
DD D ® NSNS

N
©
®Ne
®N®
®
®

®
®

w
o
®

) P2 ®

«
3

R L
NN AN
— 4

NN AN

N#

10

11

12

REF

26.10.05.01008

26.10.05.01007

26.10.05.01006

26.10.05.01005

26.10.05.01004

26.10.05.01003

26.10.05.02003

26.10.05.02004

26.10.05.02005

26.10.05.02006

26.10.05.02007

26.10.05.02008

DESC

Lock-Plate, Ti, Clavicle, Left, 8-H Combined

Lock-Plate, Ti, Clavicle, Left, 7-H Combined

Lock-Plate, Ti, Clavicle, Left, 6-H Combined

Lock-Plate, Ti, Clavicle, Left, 5-H Combined

Lock-Plate, Ti, Clavicle, Left, 4-H Combined

Lock-Plate, Ti, Clavicle, Left, 3-H Combined

Lock-Plate, Ti, Clavicle, Right, 3-H Combined

Lock-Plate, Ti, Clavicle, Right, 4-H Combined

Lock-Plate, Ti, Clavicle, Right, 5-H Combined

Lock-Plate, Ti, Clavicle, Right, 6-H Combined

Lock-Plate, Ti, Clavicle, Right, 7-H Combined

Lock-Plate, Ti, Clavicle, Right, 8-H Combined

QTY



Clavicle

N# REF DESC QTY

13 26.10.21.01006 Lock-Plate, Ti, Clavicle, Ant/Sup, Left, 6-H 1

14 26.10.21.01007 Lock-Plate, Ti, Clavicle, Ant/Sup, Left, 7-H 1

) W 15 26.10.21.01008 Lock-Plate, Ti, Clavicle, Ant/Sup, Left, 8-H 1

16 26.10.21.02008 Lock-Plate, Ti, Clavicle, Ant/Sup, Right, 8-H 1

17 26.10.21.02007 Lock-Plate, Ti, Clavicle, Ant/Sup, Right, 7-H 1

18 26.10.21.02006 Lock-Plate, Ti, Clavicle, Ant/Sup, Right, 6-H 1

15.04.01.24006 Cortical Screw, Ti, @2,4 x 6mm TX 5

15.04.01.24008 Cortical Screw, Ti, @2,4 x 8mm TX 5

15.04.01.24010 Cortical Screw, Ti, 22,4 x 10mm TX 5

il 15.04.01.24012 Cortical Screw, Ti, @2,4 x 12mm TX 5
15.04.01.24014 Cortical Screw, Ti, @2,4 x 14mm TX 5

15.04.01.24016 Cortical Screw, Ti, 22,4 x 16mm TX 5

19 15.04.01.24018 Cortical Screw, Ti, 22,4 x 18mm TX 5

15.04.01.24020 Cortical Screw, Ti, 22,4 x 20mm TX 5

15.04.01.24022 Cortical Screw, Ti, @2,4 x 22mm TX 5

15.04.01.24024 Cortical Screw, Ti, @2,4 x 24mm TX 5

15.04.01.24026 Cortical Screw, Ti, 22,4 x 26mm TX 5

15.04.01.24028 Cortical Screw, Ti, 22,4 x 28mm TX 5

15.04.01.24030 Cortical Screw, Ti, 22,4 x 30mm TX 5

15.14.01.27008 Locking Screw, Ti, @2,7 x 8mm TX 10

15.14.01.27010 Locking Screw, Ti, @2,7 x 10mm TX 10

15.14.01.27012 Locking Screw, Ti, @2,7 x 12mm TX 10

g 15.14.01.27014 Locking Screw, Ti, @2,7 x 14mm TX 10
z 15.14.01.27016 Locking Screw, Ti, @2,7 x 16mm TX 10
% 15.14.01.27018 Locking Screw, Ti, @2,7 x 18mm TX 10
% 2 15.14.01.27020 Locking Screw, Ti, @2,7 x 20mm TX 10
% 15.14.01.27022 Locking Screw, Ti, @2,7 x 22mm TX 10
.g 15.14.01.27024 Locking Screw, Ti, @2,7 x 24mm TX 10
15.14.01.27026 Locking Screw, Ti, @2,7 x 26mm TX 10

15.14.01.27028 Locking Screw, Ti, @2,7 x 28mm TX 10 3
15.14.01.27030 Locking Screw, Ti, @2,7 x 30mm TX 10



Clavicle

4
®
22(199% 0.
oe“s“ £y s
oove co '®
®

ﬁ
ooooooo-ooou

o o, -
on O
ael.
..A.
L =( "
'.A .
» mna.
..-

)

e
D40

s

LY

LY
.

N#

Drill Guide, @2.0mm, Threaded

09.05.05.20000

21

Drill Guide, @2.4/@1.8mm, Universal

09.05.00.24000

22

Depth Gauge 40mm, Short

09.08.01.00042

23

AO

I

Drill Bit @1.8 x 100mm, Tw-30

09.01.01.18100

Tw-30, AO, Gre

Drill Bit @2.0 x 100mm,

09.01.14.20100

Shaft Screwdriver, TX-8, 110mm, AO

09.07.04.08110



Clavicle

Screw size checking slot




[Blank]



[Blank]



AST.BOX.030
REV.01
09/2022



